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QUESTION 1
Given:
1. pablic class Main {
2. public static woid greet(String... args) {
3 System.out.print ("Hello ");
4, for (String arg : args) {
3. System.out.println{arg);
6. }
7. }
8. public static void main(String[] args) {
9. Main c = null;
10. c.greet {};
& }
12. 1

What is the result?

A. NullPointerException is thrown at line 4.
B. NullPointerException is thrown at line 10.
C. A compilation error occurs.

D. Hello

Correct Answer: C

QUESTION 2

Given:

1. public class Secret {

2. String[] names;

3 public Secret(String[] names) {
4, this.names = names;

b I

B. public String[] getNames () {
7. return names;

8. I

g. I

Which three actions implement Java SE security guidelines? (Choose three.)

A. Change line 7 to return names.clone();.
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B. Change line 4 to this.names = names.clone();.

C. Change the getNames() method name to get$Names().

D. Change line 6 to public synchronized String[] getNames() {.
E. Change line 2 to private final String[] names;.

F. Change line 3 to private Secret(String[] names) {.

G. Change line 2 to protected volatile String[] names;.

Correct Answer: EFG

QUESTION 3

Given:

class Animal { }

class Dog extends Animal { }
class Petdog extends Dog { }

and

.class House<A extends Animal> {
public House<? super Dog> build(A a) {
// insert code here

ol ol e

Which two statements inserted independently on line 3 will make this code compile? (Choose two.)
A. return new House();
B. return new House();
C. return new House();
D. return new House();
E. return new House();

Correct Answer: BC
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QUESTION 4

Given:

public enum Status {
BERONZE(H) , SIIVEE (10) ,GOLD{15) ;
private 1int rate;
private Status(int rate) {
this.rate = rate;
}
public int getRate() { return rate; }
public Status addStatus(int rate) {
return new Status (20) ;

and

public class Test {

public static void main(String[] args) {
Status silver = Status.SILVER;

System.out.println(silver+silver.getRate()) ;
Status platinum = Status.addStatus (20):;
System.out.println (platinum+platinum.getRate());

}

What is the result?

A. An exception is thrown at runtime.
B. The compilation fails.

C. SILVER10

D. SILVER10 platinum20

E. SILVER10 PLATINUM20

Correct Answer: B
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QUESTION 5

Given the content from the course.txt file:

123:Java:1
124:MysSQL: 2
125:Java Server Pages: 3

Given the code fragment:

Path filePath = Paths.get ("course.txt");

try |

/* line 1 */

} catch (IOException ex) |

System.out.format ("File I0 Exception is thrown.", ex);
}

Which code fragment at line 1 prints the lines that contain Java from the course.txt file?

List<String> lines2 = Files.readAllLines(filePath).filter{s ->
s.contains ("Java®));
A. for (String line : lineal) |
System.out.printin(line);
|

B. Systes.out.printin{Files.readString(filePath) .containa["Java®™));

Files.lines(EilePath) .map(s -»

s.contains("Java®")) .forEach (System.out!iprintln);

List<String> lines] =
Files.readAllLines(filePath) .contains("Java™);
for (String line : linesZ) |

System.out.printlniline); }

Files.lines (filePath) .filter (s ->
s.containa("Java®) ) . forEach (Systam.out: :println);
A. Option A
B. Option B
C. Option C

D. Option D
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E. Option E

Correct Answer: E
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